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1) Under the guidance of which archacologist excavation work was undertaken at Rang mahal 1952 AD. 7

1) K Pur 2y RO Agarwal
3) Hannand 4} V.N. Mishra
1) TaEw (1952%) § 1 goamg & Meym § soeem o Ty e
1) &gy 2) SR saT
3) e=iE 4y dm= fas
2) From which archaeological site in Rajasthan has the coin of ‘Apolio Dotus’ found ?
1) Sunad 2) Raidh
3) Rangmahal 4} Baror
2) IR % To60 quaias e § SUEed B et W gan?
1) T 2)
3) TR 4y i
3) Which kingdom was famous with the title of Bara-Kotadi ?
1) Aamer 2} Bhinmal
3) Sirohi 4) Kotah
3) “groEEs’ & M W B T 9 97
1) R \ 2) T
3) Rl 4) Frer
4) The Bikaner rular karan singh was the contemporary of which mughal rular ?
1) Jahangir, Shahjahan 2) Shahjahan, Aurangzeb
3) Akbar, Jahangir 4) Aurangzeb, Shah Alam
4) ST A wUidE TEE/EE P 9EC & eHERE 47
1) SwErl, smewTel 2) s, AT
3) WY, SEriR &) AT, E e
5} The span of the reign of Maharana Rajsingh was :-
1) 1652 - 1680 AD 2) 1632 - 1650 AD
3) 1682 - 1698 AD _ 4y 1712 - 1740 AD
5) WERT STRE B YR e e R7 '
1) 1652-1680 % 2) 1632-1650 %
3) 1682-1698 ¢ 4y 1712-1740 %
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6) “This is that fort the gate's of which no invador could break open” This quotation of Hasan Nizami refers to |

which fort in Rajasthan?

1) Jaisalmer Fort 2} Tolor Fort ;
3} Chittor Fort 4) Taragarh (Bundi) Fort
6) “ug b e & | Rramr e 1 AmpevEmi T @ gwl, 89 Mol $1 9% BT UTRM
o9 1 % A H 77
1) SHH % fEa 2) TEE @& e
3) fereire @1 foem 4y T (9) fee
7) The ‘Mantra-Rajprakash’ is the collection of the spiﬁtuai ideas of which sant ?
1) Sant Laldas 2) Sant Sundardas
3) Sant Charandas 4) SantHaridas
7) A e 76E dd % snedTions [aERl @ Head €7
1) wE ) dAgEE
3) & HroEd 4) g sligm
8) The lehariya ‘Samundra lehar’ is dyed in which place ?
1) Jaipur © 7 2) Jodbpur
3y Chattor 4) Kotah
8) "W TET A N EAT HEl T AT 2
1) wag 2) Fuy
3) ferdis 4w
9) Who was the author of the famous ‘Kayabeli’ ?
1) Soordas | ' 2) Rshim
3) Dadudayal 4) PmtapSi"ngﬁ .
9) QUi “waEe’ T E e R w7
1) g S pEm
3) 2 =W 4 wme
10} The Festival of Kalayanji in Diggipuﬁ’in Malpura tehsil is dedicated to which form of god 7
1) God Vishnu - " 2) GodShiva "
3) God Laxman 4) GodlIndra
10) AFrgn aedia o Rua feigdl § st o 3o [5e wiam & ey § 8w S 27
1) wEE & 2) wprEr T
3) WEFE @ 4) WTEE T
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11) The birth place of ‘Rammat’ play is in which part of Rajasthan 7

1} Bikaner, Jaisalmer 2) Nagour, Barmer
3y Jaipur, Bharatpur 4y Alwar, Sikar
11) vrorea & Fed g1 o 79 Heg B 359 A7
1y dss, Soed 2) HTE, AT
3) SHETY, HIgY 4) ey, Hist
12) About which ruler did historian Dr. Gaurishankar Hirachand Ojha say that he got easily carried away by
hear say ? _
1) RaiSingh 2) Jaswanth Singh
3) AjitSingh 4) Sajjan Singh
12) sfemmeer =7, NSt frawe s o 59 I ®1 B @ Hor HEl?
1) i 2) wHa fiE
3) A e 4) g+ e
13) Who was the author of the Books ‘Tidorav’ and ‘Alekhu-Hitlar’ ?
1) Annaram sudama 2) ViyaydanDetha
3) Shiv charan bharatiya 4y Chandra prakash deval
13) A o R g # v R # |
1) SR HEH . ©2) fawwEm 2
3) foraaro e 7 4) TEEET T
14) Who gave the suggestion that a confederation of Rajput ruler of Rajasthan be formed ?
1) Col. Tod 2} Charles metcalfe
3) Capt. Steewert 4y SirAmold
14) e % WY s @l us i e R e 1 as e Reed Rt
1) @dd 2fs 2) TiFH Hew
3) #ed wEd 4) T TS
15) Who established the Bundi Prajamandal 7 '(
1) Jagnnath Adhikar 2} Harinarayan Sharma
3) Kantial 4} Ganga Prasad Shastri
15) g1 ySHUSH @} T e #i?
1) F=ny s 2) ERARET i
3) Wi 4) T e e
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16} Whendid * Matysa sangh’ become a part of Rajasthan ?

1) 14January 1949 2} 1 November. 1956
3y 25 March, 1948 4) 15 May, 1949
16) ‘weg g9’ QUM @f U% 3 #d g7
1) 14 5938, 1949 2) 1 9y, 1956
3) 25 urE, 1948 4) 15 wE, 1949
17} In the following which Hterary work was not written by Pt. Vishweshwar nath Reu ?
1) Coins of Marwar 2) Histbry of the Rastra Koots
3} Itthas Nimbas 4) Vishweshwar Smriti
17) @Er 49 9. fayagay w1 33 grr w8t e way 87
1) HEE AE A 2) et ot & TegEew
3) e e 4) fasdyar ol
18) When was ‘Ijlas Khas’ setup ?
1) 1877 AD | 2) 1875 AD
3) 1892 AD - 4) 1862 AD
18) “govety T 9 RIe %Y g57
1) 1877% 2) 1875 %
3) 1892¢ | 4 1862 %

19} Which code does not match 7

State (1857) - Ruler {1857)
A) Dholpur - Shambhu Singh
B) Karauli - Madas Pal
C) Banswara - - . LaxmanSingh
D) Kotah - Ram Singh 1l
DA 2) B)
3) O 4) D)
19} =i T yalad T80 87
I (1857) - HEE (1857)
A) gER - sPEE
B) @i - S O
C) srEEE - e TR
D) e - fue b
13 A) 2) B)
Ho 4) D)
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20) When did the massacre of Nimuchana of Alwar ?

1} 1925AD 2y 1935AD
3) 1927AD 4y 1921 AD
20) AT 1 AGEY] ERIHEVS hd EA?
1 1925¢ 2) 19353
3) 19273 4y 1921 %
21} Districts of Rajasthan whose entire political boundary touch with peighbouring districts -
1) Rajsamand, Dausa 2) Banswara, Tonk
3) Karauli, Bhilwara 4) Ajmer, Jaipur
21) wrstend % o BT Fomey weqol aewtiasm di gSEt el ol S | @ E -
1) THEE, o 2) dfgarg, S
3) e, e 4) AR, TATT
22) The fault at which the Aravalli and the Vindhyan ranges meet is called -
1) Great Boundary Fault 2) Main Boundary Fault
3) Main Central Fault 4} DethiFault
22) s aen forer % PeE-d W@ 99 HeA © -
1) 9Em g g 2) eI w6
3) e weEl ua 4 Reoda
23) Plateau pot related with Aravalli mountains is -
1} Lasadia 2} Bhorat
3) Oriya 4) Malwa
23) IR THd ¥ HEE 0R A ¢ -
1) wrarE 2) WrE
3) sigm 4) Hiway
24) Approximately how much part of the total area of Rajasthan is covered by Thar desert ?
1) 41 percent 2) 61 percent
3) 63 percent 4) 56 percent
24) USEET P I STAEH 1 W Ral WO R HERR % ST S 87
1) 41 s : 2) 61y
3)' 63 ufer | 4y 56 afie

gt
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25) Beneshwar tri-confluence in Rajasthan is located on the meeting point of which of the rivers ?
1) Banas, B¢ chand Menali 2) Banas,Dai ad Khari
3) Banas, Chambal and Sip 4) Som, Mahi and Jakham
25) vromere H guiyer Faoh T G Al o e we w R w7
1) a9, 429 ug gl 2) &9, = g @
3) &g, TEw TE Hig 4) G, qrE ud A ?
26) Rupangarh, Mendha, Khari and Khandela seasonal streams empty their water in- :
1) Phalodilake 2) Pachpadralake
3) Sambharlake 4) Didwana lake
26) EFTE, Twy, Wil o wuden g qfRat fu e 8 e S S -
1) SRl HA 2) TE9EN 3
3) A 4) Sr=aF A

27y Which isohyet divides Rajasthan into two district climatic zones ?

1) 25 Centimetre 2) 50 Centimetre
3) 60Centimetre 4y 70 Centimetre
27) BFE-E1 SHGET-E A & 8 W Adarg 9rn § diedr 87
1) 25 ¥y, . 2) 50 HEnfiey
3) 60 ¥ 4) 70 Férirex

28) Redloam sotls occur in which of the following districts of Rajasthan 7

1) Banswara and Dungarpur 2) Sirohi and Dausa
- 3y Udiapur and Kotah 4) Ajmerand Bhilwara
¢ 28) i dive il oo % FeiRen § € T fael F wig ol §7
’ 1y At oF FRE 2) R ud drn
3) SEP T e 4) SFFHT U RIS

29) Which one of the following groups of districts in Rajasthan is intensely infested with gully soil erosion ?
1} Kotah, Bundi, Jhalawar and Tonk
2) Sawai Madhopur, Bharatpur, Dholpur and Alwar
3} Dholpur, Karauli, Sawai Madhopur and Kotah

4} Kotah, Bundi, Baran and Banswara
29) vrorerr § feaifed § 4 Ol o1 B oge rgeteest (guily) HeT Sries § i wy | ufie 87

1) wrer, €8, seras U dw

2) WERHIEIGY, WY, Iy sray

3) Hieyy, HAA, FEEAEgR v s

4) ier, §8l, A U areaE

11- o 8
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3(0) Highest forest area in Rajasthan as on 31 March, 2011 isfound in-

1) Udaipurand B an Districts 2) Karauliand Chit wgarh Districts
3) Alwarand Pratapgarh Districts 4) Sirohi and Bundi Districts
30) 31 9, 2011 # Rufy F SFEE ToRAN ¥ Baitte 99 89 WA e E -
1) Seaq? ud gr el § 2) & vg e Bl A
3) sty uy v Fe J 4) Ta%d ug €& ol H

31) Which one of the following is not an objective of Rajasthan Forestry Development and
Bio-Diversity Project ?

1) Conservation of bio-diversity 2) Afforestation

3) Food Control 4) Eco-tourism promotion
31) Fy=ife 5 § Fre-an oore il e g Se-faiea e e e 1 87

1) SaE-ffauar g 2) TR -

3) FTE Fra=m 4) uitafadE wdeT daed
32) Where is fluoresces-infested “humpbelt’ located in Rajasthan ?

1) Nagaur-Ajmer 2) Banswara- Dungarpur

3) Bharatpur - Alwar : 4) Kotan - Barah
32) TSR ¥ SRITNE-OE gas ugl wel fiu 7

1) Wi - i : | 2) wiEEE - SRY

3) WY - HTaT 4) @rer - ard

33) Desertification is expanding from Rajasthan towards which of the states ?
1) Delhi, Haryana, Uttar Pradesh, and Madhya Pradesh
2) Uttat Pradesh, Madhya Pradesh, Gujatat and Maharashtra
3} Delhi, Uttar Pradesh, Uttarakhand and Madhya Pradesh
4) Punjab, Uttar Pradesh, Uttarakhand and Madhya Pradesh
33) WERIEIET ] WAR TR H R U Y SR B 7T &7
1) e, sRamm, SR g ey
2) SR, WENEY, AT g e
3) fermdt, STURY, SOVIEE T HEEST
4) GO, SETIRY, FEUETS g WYl

34) Rajasthan has been divided into how many major agro-climatic zones by the Indian Council of Agricultural
Research and the Department of Agriculture and Meteorology ?

1) 35 2) 7
3) 10 4) 13
11- < 9
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34) wredrg Y e uRve 91 $ ud Jen [GEE e g T & [ 0 glu-seay geEl
e v ? o

1} 5 2y 7
3) 10 4) 13
35) American cotton (Narma) is grown in which of the districts of Rajasthan ?
1) Kotah, Bundi 23} Jhalawar, Ajmer
3) Rajsamand, Chittorgarh 4) Hanumangarh, Sriganganagar

35) afest U (Fn) voweH & e o o onrn s £ 7

1) #re, g4 2) TS, SR
3) TorEEs, RS 4) BYATG, SRR
36) Rathi breed of cows is found in which of the geographical regions of Rajasthan 7
1} South - Western Rajasthan 2} North - Western Rajasthan
3) Wesicm Rajasthan 4) South - East Central Rajasthan
36) WE T @l T ueeEE & e il a9 | fed 87
1) afeor - iyedt qepaE 2) TR - gt e
3) e TeREE 4y T - g el TR
37) Inhow much area of Rajasthan has the Indira Gandhi Canal achieved irrigation potential by March 2014 ?
1) 16 lakhhectares ‘ 2) 19 lakh hectares
3) 20 lakhhectares 4) 22 lakh hectares
37) e Vil ey A 2014 T TN o ha § O swar s & g £7
1) 16 Mg EFeay 2) 19 @rg ETAY
3) 20 AT TR 4) 22 A TR

38) Which one of the following is the lone irrigation project of Rajasthan in which provision has been made for
sprinkler urigation system to conserve water 7

1) YamunaWater 2) Siddhmukh Nohar
3) Bhikhabhai - Sagwara 4) Narmada Canal

38) yrowem @ 98 &F-A1 Tk fa aiEer § e o dveron 3 ey R wonst @ e v
TR

1y T A 2) TrEwm HEY
3) HIEWE - grTEE 4) it F8Y
11-0:-» 10
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39) What was the density of roads per 100 square kilometres in Rajasthan by the end of 2013-14 7

1) 57 kilometres 2) 50 kilometres
3) 60 kilometres 4} 72 kilometres ,
39) d 2013- 14 % o H Toveas § 9RY 100 o fediniier ox gl w1 o9 T A17 ;
1) 57 fasinder 2) 50 faaEET '
3) 60 Franes 4y 72 fEwEE
4() Degana is famous for the mining of -
1) Copper 2) Coal
3) Iron-ore 4y Tungsten
) T em s o e ?, Ty -
1) atar 2) I
3) we-3uwh 4y &

41) A realfluidis any fluid which

1} has zero shear stress

2) hasviscosity

3) has constant viscosity and density

4) has surface tension and is in compressible

41)&%&&,%?{@%%@*

1) SR EE AR 2) faptad v #
3) @ fpefid g 8 4) TTET W 1 SAEPUES §
42) The dimensions of the coefficient of dynamic viscosity in (M.L.T) notation system are
p MLT! | yMILT
HMLTT gmrtr!
42) BHER oTw SrEHEE AETad &1 M, L, T) ey § SRem 8
n MLT! ) MTLT
ML T RN ¥ & S
43) Newton’s Jaw of viscosity is given by the relation ' 3'
du o | du
I}y 7= =— 2y =
) r=yu o ) TEa L
du ' du ‘
r= 28 : =22 ;
3) M e 4) M 2
11 - ,:, 411
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43) s w1 fameiad e, Reee & e
du du
1y = ;“x%’“‘ 2) f:ﬂg}j
3) r::,a”% 4) f:ﬂz—i—f
44} Inclined single column Manometer is useful for the measurement of pressures
1) Negative 2) Sl
3) Medium 4) High
44) TeEs TS B AAEICT B H AT 8, zErg A %
1) FomsE 2) grx
3) weay 4) &yl
45) High velocity in a conduct of large size is known as
1) Laminarflow 2) Turbulent flow
3) Either of above 4) none of the above
45) ggt WiEH & wsdc § Sog T & A1 WA §
1) @i ger 2) A< §EE
3) T H B T 4) e # @i T
r du  dv dw

46) The Continuity equation 5~ + 5; o+ Fi 0

1} Is valid for ideal fluid flow only
2) Is valid for steady flow, whether compressible or incompressible
3} Isnot valid for unsteady, incompressible ﬂu_ids '

4) Is valid for incompressible fluids whether flow is steady or unsteady

du dv o
46) FHCITE THIEH §+5§+5§‘_—'0
1) #aw onsfeys s aed & ol sir/ade #
2) ®E g5 & gl 2, 9% FUHEE 8 SEE Smieiad
3) FweEl & foy ymifie wE E, g=ehided s .
4) THERIEE F % o Tl B, ure ae tésﬁﬁ&{&gtm@?r

477) For viscous flow the co-efficient of friction is given by

_8 o216
3] f__ﬁ; 2y f Re
32 . _64
3) f:f{; 4) f—Re

11-




JM

47) faere gem % Todr erdiodse ane fham g

.8 16

b "Re 7 ke
32 64

3 f= 4) =g

2
v
48) The total energy represented by Bernoulli's equation (fj“ + “2“; +Z') has the units

1) Nms 2) Nm/m
3) Ns/m 4y Nm/mn

48) P WS, GTHIET SHHIH BN WA $7 (m+w§~+2)a§rs$ﬁ€

1) Nmis ~2) Nm/m

3) Ns/m  4) Nmm
49) Minor losses in a pipe flow are those losses

1) Which are insignificantly small

2) Which can be neglected élways

3} Caused by frictional resistance -

4) Caused by local disturbance due to pipe fitting
49) ey i & AT o 41 e ¥

1) Nega figmw &

2) Fo snam & FuleE fr o €

3) BRI YR & PR B €

4) WA e % HRO, T BT F gR

50) Thedischarge coefficient of a standard venturimeter can be expressed in general as C =
1) fn(Re} 2y Jn(f)
'3) mRe, ) 4) AconStantfor-_aH‘Re & p
Where Re = Reynold number, £#=Ratio of throatto inlet diameter
50) W Avgiict % fent Brefie @ aurEE e e C
1) /n(Re) 2y frn(f) ~
3) fn(Re, B) : 4) @ Rew. g & T%f?:r f%a‘{ (ehreeee)

Re = “vﬁ?w =TT THe =AW HY 9R

11- o 13
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51) A tapered draft tube as compared to a cylindrical draft tube

1) Prevents cavitation even underrec: c¢ discharge
2) Prevents hammer blow
3) Responds better to load fluctuations
4) Converts more of kinetic head into pressure head
51) U CUIE R od & UH (Gusied 20 SE ¥ gad B
1) =7¢ &4 g€y (Rant) o &Ry e €
2) ¥ A o &
3) WIS Uy ®I 4gay ftagre wver ¥
4) OTE] FEA(CH €5 I U9 $T H ufiaf wee §
52) Maximum impulse will be developed in hydraulic ram when

1) Ramchamber is large 2) Supply pipeislong
3) Supply pipeis short 4) Waste valve closes suddenly
52) wizgife T 7 it gaed fefe S -
1) ¥ day = 2) HER WY A %
3) WS gy el ¥ 4) Y Ted AGED G5 B T 8

53) Inahydraulic coupling

1} Slipisaround 2 to:3 percent at the rurnming speed

12) Slipisnegligible atlow speeds o

3) Efficiency of transmission is high at low speeds

4) Efficiency is high as compared to mechanical coupling
53) srgifee wufdm §

1) iy w Read 2 ar 3 s % org 9 B

2) wm il 7 e oy ¥

3) @9 Y 9T SRS TSR R

4) wRREE S &, e YT BURTT  gEn B W
54) A hydraulic intensifier normally consistsof

1} acylinderandaram '

2) acylinder, a piston, storage tank and control valve

3) twocylinders, tworams anda storage device

4) two co-axial rams and two cylinders

11- o
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54) grgitde gewdiere § wwmE S
1) ug Rsrer g ta W
2) U =T, uh U, )W $E 9 9
3) & faessr, @ W, uw wia fraed
4) & &l ulduas Ty ey e ey

55) Which of the following devices is used for transmitting increased or decreased torque from one shaft to

another
1) Hydraulic torque converter 2) Hydraulicram
3) Hydraulic intensifier 4) Hydraulic coupling

55) e e 3 vl i A o e B
gaT B3 9 BT ZON ERG, UH 9NUE § gHl W gruie H )
1) wgifves o Baaet 2) wgifes W .
3) BrEEics FCTHEEY 4) TEsifeE Fufer 5%,1

56) The power which appears in the expression for the specific speed is the

L

1) Water power 2) Shaft power
3) Power into the turbine 4) none of the above
56) walte® 7 & U™ d REF 9 IR
1) 9 - 9ER ' 2) 9 qrER
3) exared %I &1 T - 4) 39T § B T
57) Specific speed of an palton wheel ranges from :
1) 121070 2) 80 to 400
3) 300 to0 1000 4) 1000 to 1200
57) ueed @M %l WENEE T % B 8
1) 129 70 2) 80F 400
3) 300 1000 4y 1000% 1200

58) InaFrancis turbine the discharge leaves the runner radially at exit for this turbine

1) The blade tip is radial at the outlet

2) The blade tip is radial at the inlet

3) The guide vane angle is 90°

4) The absolute velocity is radial at outlet

58) wiftrs crad § Rt @ Werd ey gigar ¥ gy wana ¥ R
1) == o ansede gy vy & 2) =iz 29 Tveie o YERW §
3) ugs 49 UAT 90° B 4) usdiee i ereede W S B

11 - & 15




1) Pre cller

3) Francis 4) Kaplan
59) ure ag anuiyr 9e (e evEEd § ®ea siasan vwiidiee §
1) e 2) YA &
3) wmiffw 4) FEE
60) Specific speed of turbine is expressed as
) NP 2) NP
H H*
3) NP 4 NP
FTEC ITER
60) evared & Wiufes v @ getar arEr ¥
1) NP 2) NP
0 H*
3) NP 4y NJP
W 2L
61) The unit power P 4c»f a turbine developing a power P under a head H is equal to
1) PIHY 2y PIH™
3) PVH r 4 PHY
61) BT I gie uret P, [ &7l & oo P, ¥ Ho a0 ©
1) PIH™ 2 P/HY
3y PNH 4) PH
62) The value of speed ratio (Ku} in case of Francis turbine ranges from
[}) 0.2t 0.3 2y 041005
3) 0.6t009 4) noneof above
62) it exaned & foer e wiidn (K ) ®i 9w & & &
1) 02%03 2) 04705
3) 0.6909 4) U AT 1E Al

63) A Palton turbine is considered suitable for which of the following head

1) 16t 20m
3) 35tw50m

59) Which of the following turbines is most efficient at part load operation ?

2y Palr wheel

2} 20t030m

4) 1000250 m

11 - &
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63) Gwed evaEd W B i U BEd O w0 R

108209 N 20F30F N
3) 357 S0 4y 100% 250 T

64} Kaplan turbine is E
1) A low axial flow turbine 2) A high head mixed flow turbine ;
3) Animpuise inward flow turbine 4y Anoutward flow reaction turbine

64) FUAH TTEET B
1) UF &9 UFEE g8 TrEEd 2) T 3Ed B Ml gem evaEd
3) UF TR WA qer e 4) U% @ FEE R erEEd

65) Which of the following serious problems arise from cavitation 7

1) Damage to blade surface ‘ 2) Fallinefficiancy :

3) Noise and vibration 4) Al ofabove ig
65) tfazs % B et § & wivedt iy (diftas) e s A R 1

1) = TE & Eh 2) R & frae |

3) IR Tg &9 4) T T T

66) The blade of power saw is made of

1) High speed steel , . 2) Baronsteel

3) Stainless steel

66) WE I (Saw) Ht 515 &4 BT &

1) = ade & 2) AW T | §
3) @ fidm 4y AT BT SIRRA

4) Malleable cast iron

67) The most suitable theory of failure for brittle material is

1) Maximum strain energy theory

3) Maximum shear stress theory

2) Maximumnormal stress theory

4) Maximum distortion energy theory

67) foew welaw & o ved Sute goaw vl o e &

1) Hieaes 29 uad! ey
3) #fomem fer ww ad

4y A Rrerer vl @

68) A key connecting a flange coupling to a shaft is likely to fail in

1) Tension 2) Bending
3) Shear 4) Torsion
11- o 17
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68) TIT FURHT F ST F WET TE G (W) B B UFA B

} TS o dfE }
3y o 4y TASH

69) Anopen coiled helical spring is subjected to an axial force, the wire of the spring is subjected to

1) Combined shear and bending only
2) Combined shear, bending and twisting
3) Combined shear and twisting only

4) Direct shear only

69)@WWWW‘WWWmﬁ,W%WWW:_

1) e R a dfn frd 2) gw o, AR e feafén
3) Hgw fome, ol featen 4y #ren fie BE
70y The life of a ball bearing is inversely proportional to
1) (Load)" 2) (Load)’
3) (Load)” | 4) (Load )*
70) I foRit @ dreE, R e S §
1) (9r) (Load )" 2) (9R) (Load Y’
3) (9R)(Load )"’ 4) (¥R} (Load )*
71) The mostsuitable bear{ng for carrying Vefy heavy loads with slow speed is
1) Hydrostatic bearing 2y Hydrodynamic bearing
3) Ballbearing 4) Roﬂerbeaﬁng
1) wga W AR 9 N T % R Ged @gE e o e Rt
1) el Rt 2) TEdEEE A
3) I fafhr | 4) e gt

72) The bearing cha_racteris_tié 111£mber inqa hyd_rodynamic bearing depends on
1) Length, Widih and Load
2) Length, Width and Speed
3) Viscosity, Speed and Load
4) Viscosity, Speedand bearing pressure
72) EEgErEate Raln § Baf deeiifes s, o s
1) weE, HisE dr R 2) T, IS 8 T
3y fapifirdl, nif ofiv ¥R - 4y Tedud, ofe si Tafn gan
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73) The power of a governor is equal to

¢’ ¢t |

; +mh . m+m)Hh ‘

g ) - Trae ot |

2 2 L

3 m 4 mh 4 {m+mdh
} 1{“2(:( ) )

Where C = Percentage increase in speed
b = Height of governor
M = Mass of each ball
m = Mass of central load

73) T @ WG BN ©

b4 2 'z!‘
1) lik(m-km)h 2) 1+2C(m+m)h
3y ——(m+mh 4) ~———{(m +m)h
) T+2¢ _ Y 11 §%§
Where C = wiasw geq, T H
h = &Y # SAE

M = 9 g (ball) &1 AT (mass)
m = HET @I B H (mass) ' -

74) In spur gears, the circle on which the involute is generated is called

1) Basecircle . " 2) Pichcircle
3) Clearance circle ' 4) Addendum circle
74) vy e §, i for W saeE we g E, weer &
1) o e 2) T wfem
3y freravg vl ' 4) wEEY ariEa

75) When the pitching of a ship is upward, the effect of gyroscopic couple acting on it will bé _
1) Tomove the ship towards star-board
2) Tomove the ship towards port side
3} Toraise the stern and lower the bow
4y Toraise the bow and lower the stern . ;
75) wa S R S B v G §, SH GO o A Ude e a SRR HO B SE
2) S A N e o dre
3) WA ®I TEA U7 G &I Al BT 3‘
4) T T TSA qAT LA B A HIAT
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76) The pattial balancing means
i) Bestbalancing of engines _ ]
2) Balancing partially the reciprocating masses

3) Balancing partiatly the revolving masses
4) Allofthe above

Y )

76) it AT & Ia9T B
1) 9% & Tgg oredt 8
2) TESTEET AR # Sl Se
3) Fearafeer urd o anfde aetT

4) TW @ asf)

77) The essential condition of placing the two masses, S0 that the system becomes dynamically equivalent is
1) LL=K; . . 2) L, =K
3) L =K, 4 L=K,

1, & 1, = Distance of two masses from the C.G of body
K. =Radiusof gyration of the body

G s
77) B RIHE B WH B Dl e Heiek, R o (RieR) spRtied- e &
D ha=Ks . L2 M=K
H L FK, ' N ' , 4 lzzKG_
1 &1, = 9%t % C.GH I widg & gl
Ko =960 o feaq o sees
78) The maximum efficiency for spiral gears is |
1) sin(@+@)+1 2 cos(9-@+]
cos(é'uc;o)fl s_in(¢9+ @1+l
3y cos(@+@p)y+1 4 o8B~ )41
cos(f - @) +1 cos(B+g)+1 REE
@ = Shoftangle, ¢ = Friction angle ' |
78y - T R 1 Srfempam Uhitadd &
1) sin(@+@)+1 2) cos(B-g)+1
cos(@—¢@)+1 sinf(f+@)+1
3y cos(t+@)+1 4) cos(@-¢@)+1
cos(@—p)+1 cos(d+¢)+1

g = Y9 FW, @ = [haem Fo
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79) Inaclock mechanism, the gear train used to connect nunute hand to hour hand 1s

1) Epicyclic gear train 2} Reverted gear train
3) Compound gear train 4) Simple gear train
79) U gET F At ¥, iy g O e A wrg o O O 51y | el €
1) odwmfids fer o 2) s frae &
3) s iy 29 4y deli frw & ﬁ
80) Ina hartnell governor, if a spring of greater stiffness is used, then the governor will be
1) Moresensitive 2) Lesssensitive
3} Isochronous 4) none of above «
80) sréier e &, aft @ wiwm @ R e i W 9 3, Aa R dm
1) w1 didfea 2) w4 Hifea §
3) SEEREA 4y B ° &R oY T i
81) The swaying couple is due to the ‘ gP
1)y Two cylinders of locomotive 2) Partial balancing
3) Primary unbalanced force 4) Secondary unbalanced force
81) W Huw & €
1) wrepmiea % & fest L 2) i SR
3) s FEEEs T : 4) GFET FAEAAS g9
82) The radial distance of a tooth from the pitch circle to the bottom of the to_dth, is called
1) Dedendum 2) Addendum
3) Clearance  4) Working depth
82) za % g T 4 ¢d & dren 91 daw gl B e §
1) fe=wm | 2) ==y -
3) = S 4) wrEEd T e
83) The work requirement {or @ reciprocating compressor is minimum when compression process is
1) Tsothermal 2) Isentropic
3) Polytrophic 4) Adiabatic
83) ‘wfrietEn s @ e el =@ad B, 99 &9eE fafy
1) T (SHEHT) 2) FREI (S EgiE)
3y Ui giftes 4) uvzaales
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84) Maximum combustion pressure in a gas turbine 15.....c.ooveereeveeeeennn. as compared to diesel ergine
1} Lower 2} Same
3) More 4) None of above
84) BT HraeT Yo Uk T erad ¥ S gu i gee | &
1) &8 2y 999
3) W 4) FHIT T FE A
85) When the speed of centrifugal pump is doubled the power required 1o drive the pump will
1) Increases 8 times 2) Increases4 times
3) Double 4) Remains the same
85) T YEEPTA T &t A gl &Y €, 9 @ T (319) & Rl e
1) 8 71 g St 2) 4 YA g% S
3) g 4) G

86) Asurgetankisusedto
1) Avoid reversal of flow
2) Prevent occurrence of hydraulic Jump
3) Smoothen the flow
4) Relieve the pipe line of excessive pressure transients
86) & 8 ww § o ¥
1) T&W@ &) IS 98§ F @
2) eREifers SPa B O SR B
3) FEE ® T HH & oY
4) THATHY T gRiER ¥ gy aRd # R 5 %

87) A double acting reciprocating pump compared to single acting pump will have nearly

1) double weight 2) double head
3) doubleflow 4) doubleefficiency

87) uh Taw uRReT TN, wa, R, ofeT wa el gen |, s @
1) 30T 9 2) g 'Y
3) gW = 4) g U

88) Asingle acting two stage compressor with complete intercooling delivers air at 16bar. Assuming an intake
state of 1 bar at 15°C, the pressure ratio per stage is

1 16 2) 8
3) 4 4 2
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88) (F R o A1 R o, 9 a7 SO ag 16 AR o Feelier BB | 9 BT 1 AR 15°C :

& HFE 2, U9F el Ui =

1) 16 2) 8

3y 4 4y 2
89) Centrifugal pump operating in series will resultin

1) Higherdischarge 2) HigherHead

3) Low speed operation 4) Reduced power consumption
89) T G o W # e @ €, S A

1) s e 2) FwieE

3) & T A 4) HET BT WIEY HeIsE | ;

90} Specific speed of a turbo machine
1) Remain unchanged under different conditions of operation
2) Has the dimensions of rotational speed

3) Relates the shape rather than the size of the machine
4y Isthe speed of amachine having unit dimensions

90) TrEme H wiafes v
1) agre & foftm Refodt 4 fomm geer & 0
2) gHY Ol Y & eEdeE R
3) 9§ fie w8, g (=) wdE w e g
4) A oy nfy &, Rrger give sads™ €

91) Inatwo stage gas turbine plant, reheating after first stage

1) decreases work ratio 2} Increases work ratio : f
3) Does not effect work ratio 4) None ofthe above ' !
91) & WH 1Y eTWEA W<, Y9 A H TR & a6
1) @ W ged & Z)W”{ﬁmaﬁzﬂr%
3) @il Y a1 s ARl e 4) SR 4 B G
92) Mechanical Efﬁc1ency ofa gac; turbine as compared to Internal combustion engine is )
1) Lower 2) Same o F
3) Higher 4) Unpredictable
92) ¥ TRATET di Heplebe UG B, ARG FFe g Bl gl Bed T
1) & Y = |
3) SmE : 4) Frafzacaa
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93) Computer Graphic terminal usethe ............... as display device
1) X-Raytube 2) Cathode Ray tube
3) Bothofthem 4) None of these
93) FHCY WHBA STHFME ovorrvnnns &] Emd [TaEd & 9%
1) uFTq 2) ®UE T
3) &Fi &l & 4) TR B
94} Functions of CAD system are
1) Drafting 2) Geometric modelling
3) Designreview and revaluation 4) Enginecring Analysis
94) @it u & Toeew & # €
1) gifwT 2) Simfes Aisfem (safad wief)
3y faumgn fieg oy Rawgem 4y TeNrRRT (aFiTaE) fasem
035) Three dimensional representation of an object is termed as |
1) Engineering Analysis 2) Geometric modelling
3) Automated drafting 4) None of above
95) U T 1 O STEARIT A0, eF §
1) ghfaier R 2) v Wi
3) Wl g | 4) T § B T
96) Which of following is an output device for CAD ? _
1) Penplotters 2) Hard copy units
3) Computer output to microfiim units 4) Allof above
96) =1 § & ¥z & Bl e ge faem ¥
1) T e
2) W w e |
3) R HRE YT § gk e g
4) T AR A | S
97) Toenlarge orreduce Ehé apparent size of objects, the command used in Auto CAD is
1) SNAP ~2) ZOOM
3) UNDO (_ 4) ORTHO
97) farelt aeg @i AU AEW SeF 91 geM, SNEl ¥ H $19 AW °E &S 8
1) 48 A T G (SNAP) 2) s S S 9 (ZOOM)
3) 4 & $ (UNDO) 4) @it @ & we i (ORTHO)
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G8) Steady flow occurs when

-~1) Conditions do not change with time at any ...t
2) Conditions are same at adjacent points at any instant
3) Conditions change steadily with time
4) » tant
~— is constan
ot

98) w2 qE BiAl § oF
1) o (F29F) ¥ geeng w8 B, G o fog (uiEe) @ ooy % owiy

2) wraeer § gy € geigadt fegelt & et o am
3) T WEE qeel &, 999 F Wiy

v . [
4) “é';'f@l"{%“

99) During throttling process -

1) Enthalpy d’oes notchange
3) Entropy does not change
99) grefem fafer & <
1) uierdy geedl 98l ¥
3) Ul geRl wE §
100) In an irreversible process these is a
1) Lossofheat
3) Gainofheat

2) Pressure does not charige

4) Internal energy does riotchange

2) T (Yer) wewar we ¥

4) Inlie® T gl e §

2} No loss of work

4) No gainof heat

100) zxftarfuam fafyr F €ran @
D & #t T 2) v # @ AR
3) s @Y i 4) woq &y wifey &
101) The air standard efficiency of otto cycle is given by
1 1
1) =1+ 2) p=l-—a
) ?7 (T" r+} ) 77 (r)r-l
1 1
3 =}~ 4) n=2~
) 77 (r);-+l ) ﬂ (r)r-l
11 - ,:' 25
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101) T angeet 1 41g e uHiER & 9 8

D 7;:1+m1 2) q:l—w-i—w
(r)r-l—l e (r}!"]
1 i
:i-—— = S rrr——rr—
3) ’? (r)ru}l 4) 77 (r)rml

102) For same compression ratio
1} Thermal efficiency of otto cycle is greater than that of diesel cycle
2) Thermal efficiency of otto cycle is less than that of dicsel cycle
3) Thermal efficiency of otto cycle is same as that for diesel cycle
4) Thermal efficiency of otto cycle can not be predicted

102) =i apaigr 313 % o
1) e HEm & AR oeivE), S g & geer 8 sarer B
2) S e & i THRERR, ST AEad E g 8 &9 T
3) SMEr Tz Wl AT UHIEE, S 9EEd & 999 8
4) ATET TEEE B AT TR @ ST qE o Hehd

103) Kelvin - Plank’s law deals with

1) Conservation of heat 2} Conservation of energy

3) Conservation of hfaat mto work 7 4) Conservation of mass
103) #feam Wh o7 PR It e §

1) SSHT &1 TPVl (FHTaer) 2) Tl B HTE ,

3) ur @ i § e 4) HTE (Mass) %l d&0f
104) If the temperature of the source is increased, the efficiency of the carnot engine

1) Decreases L 2) Increases

3} Doesnotchange 4) Deperids on other factors
104)ufs 9 &1 qraEy Fer IR 8, HRATS 39 & THISER

1) geft ‘ 2) ge

3) wewE T OEm 4) g% @S W AT o

105) Sub cooling occurs when the vapour

1} Has high latent heat

2} Has low latent heat

3) Removes sensible heat from refrigerant
4) Hashigh thermal conductivity
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105) g9 Fio o 2r &, 99 997 §
1) T o muy il
2) ®A W= HTH EE E
3) yEde § GiEd SO B T ¥
4) Te AN HEEREd ¥

106) For free convection, Nusselt number is a function of

1} Prandd and Grashof number 2) Reynolds and Grashof number
3} Grashof number only 4) Reynolds and prandt! number
106) @ HraaeH, THeE TE BERE &
1) w=ed ar Y9 TEy 2) e ST Ueie T }
3) fad f9irs v 4) Fee #R wreew TR ;
107) The term (NCPLK) is called @i
1} Froude number 2) Biotnumber % ,«
3) Prandtl number . 4) Nusselt number
107) e (NCPLK) #t &ed ¥ z
1) wigs T 2) g/Ee T %
3) Wrgew TR 4) e T
108) The unit of qverall heat transfer coefficient is f‘ é
1) wimk - 2) wimk i
3) whn? 4) wimk
108) 3 S SR BT & 2aE § |
1) wim'k 2) whmk
3) wim? 4) wimk

109) According to wein's displacement law, the wave length corresponding to maximum energy varies with
absolute temperature, T as

I T : 2) T?
)T | 4 T
109) 9/ feoerire Mam % o19ER, 99 TR SOEET § oitead Sell, 99 Sl § uenge e, T ¥ ’
B T - 2 T |
4 5

HT 4) T¢ |
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110) The so called radiator of an antomobile is a heat exchanger of

1) Opentype 2y Parallel flow type

3) Counter flow type 4} Cross flow type
110) SMEMERES ® ISHe? 86 §, T TETgwY, THE

1) Heil eEY 2) TAFEY GEd oY

3y @idT? gErd €Y 4) HH "9 2ied

111) Bending moment M and torgue T is applied on a solid circular shaft. If the maximum bending stress equals
to maximum shear stress developed, then M is equal to

D M+T 2y NM 7 4T?
3) m\/M TT? 4) %[M M T

Ili)ér%wmﬁw-:M@RWT,%@%@&@W@&@}M}SWWW%,%WW@M
B £ 3ffeenad R ©F ¥ S99y B WY, 99 M avEy

D M+T 2) VM PAT?
%\/M2+T2 : 4) %[M +M 4T ]

112) If a circylar shaft is subjected to a torque T and bending moment M. The ratio of maximum shear stress to

maximum bending stress is
1) 2M/T 2) TR~M
3) 2T 4y MA2T

112) o a@sR (circular) 9e W TRS T 7 Sy Hiie M wman wiren € | siftepem foae =5 o afteas
afE wd @ a2
1) 2M/T 2) T2M
3™ S 4) MA2T

113) The shape of Bending moment diagram for uniform cantilever beam carrying a uniformly distributed load
overits lengthis

1) Astraightline 2) Ahyperbola
3} Anellipse . 4) Aparabola

113) gl wdrmmaT 49 s Suw, genn i2Eieges /g o Sus Off @ uv g, H?%’T{WW
w99 B

1)y wep Gt Y 2) U EEUTERT
3) TE T 4y U IRTEA
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114) Which theory of failure will you use for aluminium components under steady loading

1) Strain Energy theovy . 2} maximum shear stre s theory
3) Principal Stress theury 4) Prinicipal strain theory

114) 3y fobg sar?) o thegd @) o o @7, 99 sreariivae ey, @8] Sifdt & ot ¥
1) ® Al e 2) ferman fomr w3 @
3) fiftrew =5« 4) fiftrm wa i

115) Two shafts A and B are made of same material The diameter of shaft B is twice that of shaft A. The ratio of
power which can be transmitted by shaft A to that of shaft B ‘.
112 2) 114 ;
3) 118 4) 1/10 | 'y

115) 41 gnae A9 Busm G UEriae & &l £ | B 9WOT o1 S, 9T9E A §EUAT Bl 9T A B 9 B W 1
qE EEEEE wT & IR 2 | S | ;
1) 112 2) 14 - | | H
3y 1/8 4) 110

116) Which material is used for bearing lining ?
1} Bross . 2y Bronze -
3) Gunmetal 4) White metal

116) fatin 1 mzfin & oG @ Soliad & 4 W Jr gl g
Daw ’ 2) st
3) W urg () 4) |HE UG

117} The bolts in arigid flanged coupling connecting two shafts transmitting power are subjected to :
1) Shearforce and Bending moment 2} Axial force
3} Torsion | 4} Torsion and bending moment

117) T wimer saifer, @1 & owe g gifafafés @ 9 9 9= & aW o §, geee g o #
1) R g i S 9 2) ulderE w9
3) erREA 4) TREA SR 45T "Hw

118) Starting friction is low in
1) Hydrostatic lubricaticn 2} Hydrodynamic lubrication
3) Mixed lubrication 4} Boundary lubrication

118) gt Beas o 2w "

| 1) EEgrefes gisr 2) TESiRtE e
3) TRt dfsrEs™ 4) el giawer
11 - 29
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119) Monal Metal is an allpy of

1) ~ olybdanum & nickel 2) N kel & copper

3) Molybdamum & aluminium 4) Moiybdanum & zin¢
119) i oy, U SFA §

1) Freftggem 3l WEa 2) foaer o7 afaz

3) HREEH SR AR 4) Hrdfreean o fw

120) In the assembly of pulleys, key and shaft
| 1) Pulley is made weakest
2) Key is made weakest
3) Key is made strongest
4) Allthe three are designed for equal strength
120) geft, F(key) T M bl HETA &
1) gol SR €918 SR
2) di(key) THAR TG G €
3) Wi(key) AT TAE AR §
4) gdY & @ fEonze wAw Ao % Rl R 9 ¥

T
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